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| When to use a histogram?
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1% SO HYP XWEHDMDW \ HYWRG\WRSD RQDWP 7 KHRGHMBED HMDNHDRQZ D/

\ HWRG &UWDMDJI HBEL QV DQGDMIQMWMRDQDUD R HRXOW \VSORHGHQ YDOH/ \KDAGARUEH\WH
DH/R 1% SO HYZ \WDHQZ IGKR

: WMARGHW RHDMDKIMRIWEP R \WHDIH/ XMQ) WHDJ HBEL QV \ RX MWNRBHDMS

7KHIWVH. WZ VR WHhba \MEGIGRNOHWLY 7 KHHLVRHUWRZ | RUHK SO HJ

Rk | Player Pos |Age |Tm |G |GS|MP |FG |FGA |FG% |3P |3PA|3P% |2P (2PA (2P% |FT |[FTA|FT% |[TRB |AST [STL |BLK |TOV |PF |PPG
Al

1 As:i(nes SG |23 |[OKC |68|6 |155(|2 |5 0.393|1.4|3.6 |0.381|0.6(1.4 |0.426|0.6(0.7 |0.898(1.3 (0.6 |0.5 |0.1 [0.5 [1.7|6
Quincy

2 |, PF [26 |TOT |38 |1 14.7|1.8|45 |0.412|1 |2.4 |0.411|09|21 |0.413|1.2|1.6 [0.75 |3 05 |04 (04 (06 |1.8(58
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Let’s now view the histogram below generated from the QEDBVDODULHV FVY table with the
following code:

QEDBVDODULHV KLVW  ELQV PDNHBDUUD\ Assume that
all the players are represented in the histogram, and that the units for the salary data are in millions of
dollars. Also note that this dataset contains 417 NBA Players. Answer the following questions with an
arithmetic expression, or “Cannot answer”. If you cannot answer the question, explain why.

a.  What percentage of players in the dataset make between zero and one million dollars?

What percentage of players make between one and four million dollars? Which bin has
more players?

Percent per unit

E +RZ PDQ SO HYPDHEHZHD PIARODG P LARGRMY

10 15 20 25

6DV IRUSD\ HY P IGRQV
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$ WKXP HZ HKDYHWV\HRGKIMRIUP JHHDMGXMQ) Al ITHHYME QY
nba salaries.hist (3, bins=make array(0,1,5,6,8,15,21,25))
16

14

12 4

10

Percent per unit

10 15 20 25
6DOV IRUSD\HY P LGRQ/

1\ RXZ URM? & DQORADQZ HJ 1RUDQ WLQ) CERYH DU\ RX CEGIWR DQZ HIVCRZ " | \ RX DUHCE®
\RDQZ HIMKRZ Z RXG\ RX GR\R'

(o
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| What is a function?
#OUL"$99.&'" 1 (") # $" N&
# T$"A2#91 *?25$%7?%14"4*91
" C%%F1arguments
T WN'$."4%&'49' value

def statement

'
' def cm_to_m(cm):
OOOConverts centimeters to metersOO0
m= cm /100
return m —

— body

T return statement




8@:9

v, ABDA=RY?HK] 2=HINGF DOFXODWHBPHDQ FD=PR-GA0H =J =NNUKBIQ  >AND=] @GNARNIO
FDA=RAN-CAKBFDAJQ  >ANDE FDA=NNUS  KJ'PQUAFDAQS  PHDQ B 7HKI (B

GH FDOFXODWHBPHDQ DUUD\

VXPBRI BDUUD\ BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB
QXPBHOHPHQW/ BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

return
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: HKD/HGH LGH3WWHI XGRNRQF DOF XODWHBVVDW VWL FV EHBZ - $ Q0] HWHIXGRNRQDQG
GHASKHUZ KDMWERA \KHQDRZ HAKH TXHWIRQY/ EHBZ

GH FDOFXODWHBVWDWLVWLFV DUUD\  PXOALSOLHU
ODUJHVWBQXP  PD[ DUUD\
VPDOOHVWBQXP ~ PLQ DUUD\
DUUD\ BDYHUDJH  FDOFXODWHBPHDQ DUUD\
VWDWBDUUD\  PDNHBDUUD\  ODUJ HVBQXP

VPDOOHVWBQXP
DUUD\ BDYHUDJH

| LQDOBDUUD\  VMDW/BDUUD\ PXOW.SOLHU
UHVWKUQ | L QDOBDUUD\

BXSSRH\ RXH HFRXMWHOHR FRGHEHBZ. LQDEDIQN FHD$ QZ HWH TXHWRQYEHBZ

VWDW.WWLFV  FDOFXODVWHBVWDWLVWLFV  PDNHBDUUD\

89" 1+)* )-9 +0
:9) O+##+,4.<$<):$
A< )1$+=

1. largest_num

2. array_average

3. stats_array

4. final_array
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© HKDYHGH LQHG\WWHI XQRANRQF DOF XODWHBVMDW VWL FV EHBZ - $ QDD] HWHI XQRARQDQG

GHASKHUIZ KDAWERHY \KHQDQZ HAWH TXHWRQVEHBZ

GHI FDOFXODWHBVWWDW.VWLFV DUUD\  PXOW.SOLHU
ODUJHVWBQXP ~ PD[ DUUD\
VPDOOHVWBQXP  PLQ DUUD\
DUUD\ BDYHUDJH ~ FDOFXODWHBPHDQ DUUD\
VWDW/BDUUD\  PDNHBDUUD\  ODUJ HVMBQXP

VPDOOHVVBQXP
DUUD\ BDYHUDJH

| LQDOBDUUD\  VWDWBDUUD\ PXOW.SOLHU
UHWKUQ | LQDOBDUUD\

BXSSRH\ RX H HFXAMWHOHR FRGHEHBZ. LQDEDQN FHD$ QZ HMWH TXHIRQ/EHBZ

VVWDW.WVW.FVY  FDOFXODWHBVWDWL VWL FV  PDNHBDUUD\

"#3%&'()  $"(%*+,-$.",%/($+/,0%!"#$%
$12(%.)%.%0&0 int, string, array)

(/%S (%4-,(%.)%(5(-+$(&B% T #$Y% T '+4&%
"#22(,9%$'%$" (%8#4+(%krgest_num  ?

"#$%"#22(,)%.*% 7 (%/+,%
calculate_mean (statistics)?
o <=>7
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